m B Al B KSR R

(B%)

e % B HE(Keg) HEOG 2 & hE(%) FHEH
1 * ¥ ~ Y 285, 160 126 3 29,242,674 ) 103
2 = (A - A 283,103 125 6 23,413, 104 4.4 83
3 |k ~ ~ 253, 389 1.2 1 49, 282, 644 9.3 194
4 1= ES el F 221, 082 9.8/ 8 17,043, 210 3.2 11
5 & w 3 Y 142,184 6.3 2 42,131,762 8.0 296
6 L 3 A 97,854 4.3 1 20, 699, 031 3.9 212
17 3 El 94,908 4.2 4 28,242, 647 5.3 298
8 < ~ C ~ 80, 138 3.5 23 8, 035, 060 1.5 100
9 ¥ K L & 18,795 3.5 21 9,141,179 1.7 116
10 | & vt 52 2 L 18, 534 3.5/ 9 16, 140, 418 3.1 206
" E - < % 10, 667 3.1 5 26, 254, 622 5.0 372
12 11X < S (A 64, 664 2.9 11 9,871,302 1.9 153
132 ES 3 49, 386 2.2 21 71,103, 096 1.3 144
14 F 47,633 2.1 11 13,612, 602 2.6 286
15 | A 3 5 * 38, 925 1.7 28 6, 703, 331 1.3 174
16 | A A L & 33, 320 1.5] 18 9, 696, 942 1.8 291
17 | C E3 D 13 30, 056 1.3 19 9,667, 753 1.8 322
B, = + < k 26, 566 1.2 12 13, 386, 150 2.5 504
M9z o F £ It 25,170 1.1 33 4,788, 236 0.9 190
20 | L o) C 17,655 0.8 24 7,808, 189 1.5 442
21 (A A (¥ A 15,610 0.7 15 11,198, 317 2.1 i
2 £ L W f= 7 15,217 0.7 13 12,738,703 2.4 837
23 | F 9 =z 12,798 0.6 32 5, 066, 592 1.0 396
24 L 5 M H 12,337 0.5 16 9,944, 507 1.9 806
25 IF A E S 12,036 0.5 14 11, 359, 997 2.2 944
26 | I ) 10, 704 0.5 22 9,128,472 1.7 853
21 |7 y 3 ) — 10, 603 0.5 30 9,578, 482 1.1 526
28 | IS A 2 < 9,159 0.4 20 9,557, 352 1.8 1,043
29 iz b)) el 9,119 0.4 37 3, 496, 382 0.7 383
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(B 3)

o % H HE(Ke) R T & #E E (%) THBE
3 7 R N F H R 8,867 0.4 25 1,397, 285 1.4 834
31 =& B B =X 8,676 0.4 36 3,595, 678 0.7 410
32 b [+ =3 8,492 0.4 26 1,284,114 1.4 858
3 | 7 AN Ly % 8,253 0.4 35 3, 635, 280 0.7 440
4 |z = ES & 8,230 0.4 31 9, 144, 548 1.0 625
% | FrhHyT YA 1,670 0.3 41 2,453,976 0.5 320
36 | t )2 ) — 1,632 0.3 40 2,595, 240 0.5 340
3 N A - A 6, 058 0.3 34 4,259,974 0.8 103
38 = &£ 3 AN 4,587 0.2 42 2,259,573 0.4 493
39 | » A 4,181 0.2 50 958, 079 0.2 229
40 | X S 3,676 0.2/ 10 15,179,010 2.9 4,129
4 & & Ly &S 3,535 0.2 43 1,989, 252 0.4 963
42 & 3 A 3,375 0.1 29 6, 333, 626 1.2 1,871
3 & 2 K& B 2,388 0.1 47 1,291,032 0.2 941
44 | A I 2,343 0.1 52 167, 834 0.1 328
45 A~ 4 ¥ 1,844 0.1 46 1,388, 946 0.3 153
46 |Hh v + FH = 1,802 0.1 54 133, 421 0.1 407
47 | X t ) 1,635 0.1 39 2,654,910 0.5 1,624
8 v F 0 W D 1,516 0.1 49 983, 232 0.2 649
49 | F Ly 1= [+ 1,373 0.1 45 1,406, 878 0.3 1,025
0 h U 7 T — 1,112 0.0 57 470, 340 0.1 423
51 5 981 0.0 38 2,715,821 0.5 2,830
52w Ea 2 893 0.0 56 912,600 0.1 274
53 LL&ESHBL 844 0.0 44 1,678, 652 0.3 1,989
4 T ¥ v L v b 129 0.0 51 830, 854 0.2 1,140
% b o T & 3 610 0.0 72 48, 168 0.0 19
56 | & & (F 509 0.0 62 228,414 0.0 449
5 L v A & ( 495 0.0 55 608, 396 0.1 1,229
°8 ¥ z R N 491 0.0/ 60 278, 263 0.1 967
5 12 A 12 < F 448 0.0 58 325, 944 0.1 128
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(B 3)

e

o 2 = HE(Ke) HE% T & B LR (%) THEIE
60 T v Yal)— LA 286 0.0| 61 272,032 0.1 951
61 AN - 2 3] 256 0.0 48 1,161, 311 0.2 4,536
62 & v 2 A &£ S 251 0.0 53 737,532 0.1 2,938
63 D ES & o 228 0.0| 68 75, 816 0.0 333
64 | & A & 5 T W 207 0.0 67 87,793 0.0 424
65 | D b A 165 0.0 65 170, 100 0.0 1, 031
66 | E — A 145 0.0 59 310, 932 0.1 2,144
67 | S E 136 0.0| 66 130, 140 0.0 957
68 | & 5 A B L 61 0.0 70 60, 643 0.0 994
69 | L z 44 0.0| 64 171, 558 0.0/ 3,899
70 *x D 1= I 27 0.0 63 192, 780 0.0/ 7,140
AR A ] 18 0.0 T 57,618 0.0 3,201
12 | W ) 4] 14 0.0 73 28,728 0.0/ 2,052
3 |6 = [0 1 0.0 69 70, 243 0.0 10,035
14 |+ Y 5 0.0 74 8, 587 0.0 1,717
75 | A = -2 0.0 75 =270 0.0 135
1 z 0O i B O £ 9, 991 0.4 2 2,794, 292 0.5 280
2 £ 0o M B %E 5, 385 0.2 1 5,824,953 1.1 1,082
3 T D EE X B 4,742 0.2 5 682, 139 0.1 144
4 TOMEDHE 3,232 0.1 4 1,903, 279 0.4 589
5 ZTOMEEDOEME 1,772 0.1 3 2,271,264 0.4 1,282
6 = 0O Mt £ ¥ % 1, 541 0.1 6 394, 632 0.1 256
17 & 0O i R F % 37 0.0 7 138,618 0.0 3,746

g7 x H 2,258, 165 100.0 527,912, 882 100.0 234
(£%)

e ) = HE(Kg) HEOG ZH 2 B LE (%) T
1 17 Ly N 1,283,222 44 .31 2 232, 395, 048 23.5 181
2 £ £ B 562, 598 19.4| 1 284,786, 180 28.8 506
3 A H 407, 852 4.1 3 151, 987, 401 15.4 3713
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(BR=)

o % H HE(Ke) R T & #E E (%) THBE
4 N + + 180, 427 6.2) 6 35, 325, 289 3.6 196
o | H M A B 128,721 4.4 4 95, 528, 594 9.7 142
6 Y A CZ & 92,235 3.2 1 31, 689, 954 3.2 344
T A £ 5 E 12,434 2.5 5 86, 601, 161 8.8 1,196
8§ | A B v H 98,013 2.0, 8 24,325,110 2.5 419
9 TJL—FI7L—-v 33,418 1.2 10 5,976, 709 0.6 179
10 | W 5 5 < 12, 662 0.4 9 10, 008, 618 1.0 790
nm Ra4av7y7u 12, 346 0.4 15 2,990, 304 0.3 242
12 'L £ v 11, 569 0.4 12 4,821,524 0.5 417
13 NLYOTHLID 11,407 0.4 14 3,337,297 0.3 293
“H £947)L-=-Y 8, 065 0.3 11 4,951,184 0.5 614
15 97 & t 1,450 0.3 13 4,535, 386 0.5 609
16 AN E & 2,384 0.1 17 1,336, 942 0.1 961
17w - H 1,256 0.0 16 2,910, 835 0.3 22318
B = 2 5 U v 845 0.0 18 481,118 0.0 569
19 7 — v 68 0.0 19 956, 700 0.0 834
20 ' < Y o 0.0 20 10,476 0.0 209
1 TOMBTEAFRE 6,875 0.2 1 2, 636, 366 0.3 383
2 = o # R = 3,921 0.1 2 1,039, 694 0.1 265

e = & 2,897,719 100.0 987,737,890 100.0 341
(850, MI&H)

o % H HE(Ke) R T & #E E (%) THBE
T3 © L 30, 130 93.7] 1 3,573,095 28.3 119
2 5 O & 12,339 22.0 2 3,112,040 24.6 252
3 |2 A I » (< 1,081 1.9 4 273, 844 2.2 253
4 - I 3 o F 978 1.7 3 117,825 5.1 134
9 =T O MWMI & 264 0.5 7 135, 086 1.1 912
6 3 e & 3 241 0.4 6 172,622 1.4 116
1  ® X & 209 0.4/ 5 259, 201 2.1 1,240
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(BEN, MMIT &)

o % H HE(Ke) R T & #E E (%) THBE
8 &1 F £ W 2 A 36 0.1 8 78,192 0.6 2172
9 X =2 -3 20 0.0/ 9 30, 456 0.2 1,523
0+ L W = It 3 0.0 10 23,976 0.2 7,992
m o w % AN ) 3 0.0 11 15,120 0.1 5040
1 TofmITRRE 1,146 1271 1 2,181, 302 22.0 389
2 £ o f m T & 2,404 4.3 2 124, 554 5.7 301
3 T oOfhmIT¥H X 994 1.8/ 3 368, 809 2.9 371
4 T oM BRRR 140 0.2 4 271,674 2.2 1,941
5 T OfMhEBEEX 101 0.2) 5 91,023 0.7 901

FO. MI &S 56,089 100.0 12,628,819 100.0 225
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